

$$-(a+b)= \quad -a \quad +a \quad -b \quad +b$$

$$-(a-b)= \quad -a \quad +b \quad +a \quad -b$$

$$-(-x+y)= \quad +y \quad -y \quad -x \quad +x$$

$$d-(-k+t)= \quad d \quad +t \quad -t \quad -k \quad +k$$

$$-m+(a-c)= \quad -c \quad +c \quad -m \quad -a \quad +a$$

$$p-(-n+r-s)= \quad p \quad +r \quad -s \quad +s \quad -r \quad +n \quad -n$$

$$-(k+t)+(-a-s)= \quad -k \quad +k \quad +t \quad -t \quad -a \quad +a \quad -s \quad +s$$

$$-(d-x)-(y-z)= \quad +d \quad -d \quad -x \quad +x \quad +y \quad -y \quad +z \quad -z$$

Раскрой скобки. Щелкни мышкой по выражениям, которые считаешь правильными. Не ошибайся, твои ошибки все увидят!

